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MATHEMATICS
TTfore

(Hindi & English Version)

{Total No. of Questions: 23] [Total No. of Printed Pages: 16]
[Time: 03 Hours]) [Maximum Marks: 80]
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Instructions -

(1)
(2)

(3)
(4)
(5)
(6)

HeT . 6 © 15 0% AT 537 2 35 ¥ &/

e . 16 © 19 0% HAd ¥ 3 35 &7 &/
o7 & 20 @ 23 0% FAF 997 4 IF & &
H¥ 7. 6 ® 23 5% Hak® Raey Ry mv &/

All questions are compulsory.

Question no 1 to 5 are objective type questions. Each question carries
1x32 = 32 marks.

Question no. 6 to 15 carry 2 marks each.

Question no. 16 to 19 carry 3 marks each.

Question no. 20 to 23 carry 4 marks each.

Question no. 8 to 23 has internal option.

TR A
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g1 e few gaev fafay - . : (1x6=8)
() e {1} & Swgeml o wwn el - :
(@) 1 (b) 2
€ 3 (d) 4
(i) o A={1,2)3RB={3,4), 79 A Q B W wael & Fear gl -

(a) 2 (b) 4
(c) 8 (d) 16
(iii) i &1 =T B -
(a) -1 (b) 1
(c) V-1 (d) 0
(iv) yz-ad ® x—Adwi® &1 74 &ar @ -
(@ z (b) x
(c) v (d) 0
(v} 2 4, 8.5l 83l 9§ B ~
(a) 64 (b) 128
(c) 256 (d) 512

(vi) A2 A 3R B A FHYR wY= B, @ ANB & 99 8
(a) U (b) A

(c) B (d) ¢
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Choose and write the correct option -

()  Number of subsets of the set {1} is -
(@) 1 (b) 2
(c) 3 (d 4

(W) K A={1,2} and B = {3, 4}, then the number of relations from

AtoBis -
(a) 2 (b) 4
(c) 8 (d) 16

(iii) The value of i* will be -

(a) -1 (b) 1
() V-1 (d) 0

(iv) The value of x—coordinate on the plane-yz is -
@ 2 (b) x
€ vy (d 0

(v) 8" term of progression 2, 4, 8,........will be -
(a) 64 (b) 128
(c) 256 (d) 512

(vi) It A and B are disjoint set, so the value of A n B will be -
(@ v (b) A

(c) B (d ¢
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2 R =l A 9@ fAoc gaaw faflag -

() AUA = oeeesneerinsrenne (A A'IV)
(i) % = s (i-1/1)
(i) IR "Crz="Cs, W N= e (11/14/20)
() — (32/42/52)
(v) "Co+"Ci4+"Co+ ocvvrvrrent "Cn= cciiienianens (n%/2%/0)

(Vi) VZ, VB, VIByuurerorsr B Toecrrerrrrrresenrisssssnssess 21

(5v2/8/7V2)

Fill in the blanks with correct option -

() AUA" = coorrerenremssmenssssmmsesssensesnises (A A'/U)
Y e T (i-11)
(i) 1 °Crz="Cs, S0 N = cocorrsimsssssirisseee (11/14/20)
(V) 2 = s (32/42/52)
(v) "Co+ Gy 4"C2 4 et O = (n¥/2"/0)

(vi) The value of 5" term (8.0 iV AP V2 VB VTB...co

(5V2/8/7V2)

- -
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g3 W& af¥af T fafg -

(1)
(@)

(3)

(3)
sec3x -1

tan2x

sin (*:-— x)
e wy

sin(2nx + x)

AT BT FHIHROT

(a)
(b)
(c)
(d)
(e)
(f)
(9)

@

COSX

120 3 sy

sinx

2tanx
1-tanx

tan?x

2L Y

al b2

yz = 4ax

Match the columns and write the correct pair -

(1)

(2)

(3)

(4)

(6)

(A)
sec?x -1

tan2x

sin G - x)

Radian measure

sin(2nn + x)

Equation of Parabola

173 (221107-C)

(a)
(b)

(c)

(d)

(8)

(B)

COsX

180
— degree measure

Sinx

2tanx

1-tanix
tan‘x

ud 4
v Y. a2 |

ad b

y? = 4ax
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w4 a /a0 fafan - (17=7)
(i) ax+by<c s Has aftar 2 -
(i) (a+b)" B TR ¥ 7D UT § a 3R b F WS F AT
(i) fg (1,0,2) A -5 4 g 12|

(iv) limlx(x + 1)} T 51 10 2
(v) f;sinxiﬂ "4 cosx & |
(vi) lim— =

(vii) —x" = nx"~

Write true/false -

(i) ax+ by <cis alinear inequality.

(i) Sum of the exponents of a and b in the expansion of (a + b)"
IS n.

(i) The distance of the point (1, 0, 2) from x-axis is 1.

(iv) The value of Li_:g[x(x + 1)] is 10.

d . .
(v) The value of ——sinx IS COSX.

e ————
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95 U I/ qd § Iew iy - (1x7=7)

(i) ﬁwAﬁnmﬁ,mwﬂAﬁﬁmﬁmm?
(i) & A={24,6 8 7N B=(6810, 12}, A AU B P 7 T1d FIRT|
Aiil) R wem &1 wda Rifag |

(iv) z=a+ibar wgah fifa)

(V) x20 T y>0 &1 5 fa ugerty & e

(vi) R (2. 3) % T e IR a1 —4 B Ve B A R

(vil) Fr=fafm sitest 6, 7, 10, 12, 13, 4, 8, 12 31 wng fafg)

5y

o

Write the answer in one word/sentence each -

(i) The set A contains n elements, then how many subsets of the set

A will be there?
(i) tA={2,4,6,8}andB={6, 8, 10, 12}, then find the value A U B.
(iiiy Write the symbol of Null set.
(iv) Write the conjugate of z = a + ib.
(v) In which quadrant the solution of x > 0 and y > 0 exits?
(vi) Write the equation of the line passes through (-2, 3) with
siope -4.

(vii) Write the mean for the following data 6, 7, 10, 12, 13, 4, 8, 12.
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el f(x) = V9 — x2 BT Wi T GRER 37 B |

Find the domain and range of function f(x) = v9 — x.
Juar/OR

fe wor f(x) = x2 + 2x - 3 B, A £(0), f(-1) = |

If f(x) = x2 + 2x — 3, then find the value of 1(0), 1;(-1).

A e f(x) = %2 B, a L2 7 A @ F

(11-1)

If f(x) = x2, then find the value of “(‘1‘;’ fﬂ)

arerar/OR
ofe Fe f(x) = X2 a1 g(x) = 2x + 1 8L A (f+0)(x), (f- g)x =M U |

If f(x) = x2 and g(x) = 2x +1, then find the value of (f + g)(x) and

(f - g)x.
A PIAY —
L. -
3
Solve -
5-—2x< 5_5
3 &

3erar/ OR

3x+2y>6ﬁmﬁ@ﬂﬁfﬂﬁﬁ'm’fl

Solve by the graphical method 3x + 2y > 6.

—

@)

@)



g (1-2x)° & WER A0

Expand -  (1-2x)°

I/ OR

(98)° B T Fifdw |

Evaluate —  (98)°

T.10 ﬂﬁﬁﬁﬁﬁ?ﬁ“ﬁﬁmﬁﬁnﬁ%nﬁﬁmﬁ.Glﬁm;en'a’?,ﬂ’fp‘d‘i
9T FE PG |
Inan A.P., if m"term is n and the n™ term is m, where m = n, find the
p!" term.
3rerar/ OR
gfy f&A FarR AN B ¥eH p U=} &1 A, vew q TR} B AP B awrE”
B, @ 9 (p+q) URT &1 AR ST DT |

if the sum of first p terms of an A.P. is equal to the sum of the first Q

terms, then find the sum of the first (p+q) terms.

711 fagaif P (1,-3,4) IR Q(-4,1,2) @ i A & sma ARy

A
Find the distance between two points P(1, -3, 4) and Q (-4, 1, 2).

B . oo
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. W{QR .
Tuigy f& P(-2, 3,5) 3R Q(1, 2, 3) M R(7, 0, -1) TR &1
Show that the point P(-2, 3, 5), Q(1, 2, 3) and R(7, 0, -1) are collinear.

W12 |im 392 &1 A Ta A9 @)

x—0 sinbx

sinax
sinbx’

Find the value of }‘in{l'

@/ OR

lim [1+x+ %%+ + x10] BT AF Fd B |

X—=-1

Find the value of xl_i’rzll[l +x + %% 4o+ x10).
713 fag a9 f6 -
sin2§+ coszg—tan“:-= _?1 @)
Prove that -

. oM m 5 M -1
sin? = 4+ cos?-—tan‘-= —
6 3 4 2

3ar/ OR
gin75° @1 HIF S1d 4l |

Find the value of sin75°.
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"4

.15

% Riawt ) IR ot an 8, &% QB9 1F ge 8 A @ wiwer 82
A coin is tossed twice, what is the probability that at least one tail
occurs?

suar/OR
P(A) = 23R P(B) = ; far mar &) afk A ok B e st wew &, A

P(A a1 B) sira aifomq |

Given P(A) =2 and P(B) = :. Find P(A or B), if A and B are mutually
exclusive events.
A_aﬁz B ¥ wealW ¥u WaR & f& P(A) = 054, P(B) = 069 3R
P(ANB) = 0.35, @ P(AUB) &1 A1 ST 3N |
A and B are two events such that P(A) = 0.54, P(B) = 0.69 and
P(ANB) = 0.35, then find the value of P(AUB).

eEar/ OR
e @ 52 Rl A TS o) wE A T TH W 4 W@ e o #)
zq @ @A F waear # 5 Foe o 7 3§ ok T g o
uar 87
4 cards are drawn from a well-shuffled deck of 52 cards. What is

the probability of obtaining 3 diamonds and one spade?
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|

16 400 @RpAl B W ¥, 250 fF=Y AT 200 S A g@d £ fpem afd
R T sl A dre W #7
In a group of 400 people, 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English?
Ferar/ OR
afr u=1{1,2,3,4,56,7,8,9} A={2 4,68 3 B=1{22357) g
wanfa #ifme & -
(AUB) =A'NB’
f u=1(1,2,3,45.6,789}, A={2 4,6, 8 andB = {2, 3,5, 7}, then
verify that -

(AUB)Y =A'nB

COS9x-C0S5X sin2x

917 ﬁ:[g aﬁﬁﬂq — s T = -
ﬁ; sin17x-sin3x cos10x

COS9X—COS5X sin2x
Prove that - sin17x-sin3x cos10x

fag @fon & cos (E + x) + cos G - x) = J2cosx

w .
Prove that - cos (+: + x) + cos (: - x) = V2cosx

(3)

(3)

e = o R 5t =

i
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918 AR+ <= ¥ A x # WA Wy B k)

9 10!

i 1 X
if sts= o then find the value of x.

AT/ OR
A 5 4P = 65Pry B, A r W1 AW wrT AR
It 5 *Pr = 6 5Py, then find the value of r.

H19 T x?+y? + 8x + 10y - 8 = 0 & B 3R Py s AR @)
Find the centre and radius of the circle -
X2+y?+8x+10y-8=0

e/ OR
QG 4x2 + 9y? = 36 B for el o, o i A avardal, Y @ Adwie
W, ISPz aw AT S A o T w9 )

Find the coordinates of the foci, the vertices, the length of major axis,
the minor axis, the eccentricity and the length of the latus rectum of the

eliipse 4x? + 9y’ = 36.
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[s‘-“ + ({)“ran W e W |

) 1 25)°
Find the value of [i‘“ + (T) ] .

yar/OR

(- 5)(E) & v v 3 aRaffa A

1+i S+i

Reduce (T-IT._ ;2:; (35[—') to the standard form.
AN 5+ 554+ 555 +5555 4. P n U3l B ATES ST BT |

Find the sum of the following series upto n terms -

5 + 55 + 555 + 5555 +

---------------------------------

ufémsmr?%maﬂaamba%ﬂammmmmnm

10 a497 8 & N "z sra A

It AM. and GM. of two positive numbers a and b, are 10 and 8

respectively. Find the numbars.
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e

2 At A R (h0), (ab) IR (k) TE Y w & Y e f 2402 “)
If three points (h,0) (a,b) and (0,k) lie on a line, show that f:—+ :‘-: = 1.

g/ OR
X P g & 90 X W S M o A o B R W sl o)

ﬁa‘-ﬁ;waaﬁ?b%,ﬁrﬁ@gq%%za_t+i

b?’
If P is the length of perpendicular from the origin to the line, whose

intercepts on the axes are a and b, then show that =t =

%23 4 sifwsl @ fow ara @ wnie T Raes sa Aiftg - @)

[ x 10 | 30 [ 50 [ 70 | 90 |

I SN N N S
Tt 4 24 | 28 | 16 8

Find the mean deviation about the mean for given data -

10 | 30 50 70 | 90

e
o
(@ «]

: !
l

4(24 2a|

i

|
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arerar /OR

WM%WW$WWWWW'

&t | 0-10 ] 10-20 | 20-30 | 30-40 | 40-50 | 50-60 _i
| |
CAw_Ra | 6 7 | 15 16 4 2 i
| | |
Find the mean deviation about the median for given data -
" Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |
| i
i |
| Frequency | 6 7 15 16 4 2 |
_ - | —
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